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2N HES
g dEsS A3
el FoXE dyE24 (SH9 H2)
SN - B - SA(B) - NIRAY - BES 0 & ol B o tmE==T
HES 1,372,685 1,137,825 234,860
HES At 3 1,105,811 872,201 233,610
FAUXH S22 1,105,811 872,201 233,610
SYHHY =Y 305,097 294,967 10,130
201 ZB=EhI 62,203 52,073 10,130
01 Ar2teltl 52,868 43,238 9,630
O get+=ZH| 14,210 13,310 900
S5 S5 425 74 2,250 1,350 900
0 Xz 16,533 11,853 4,680
otd & &2 |Xl2cl | St 11,880 7,200 4,680
O 2SI 13,837 9,787 4,050
LoRIAUZI| RXE4
4,500,000 ~90%<Z 2> 4,050 0 4,050
2 =23l 9,335 8,835 500
0 2222 % MAl 9.3% 8.83 500
S5 SSEY &I & #£Ees
50,0002 *10& 500 0 500
AE 2 FHl2el 2E 134,100 109,100 25,000
201 er= 3| 84,100 69,100 15,000
2 Ss52g4l 84,100 69,100 15,000
O AE&EHIRXHI 75,100 60,100 15,000
HYSAME =8 & 2 10,000 5,000 5,000
2os A2 40,000 30,000 10,000
401 Al HI L RO 50,000 40,000 10,000
01 AlZHI 50,000 40,000 10,000
O 2ots X 28,000 18,000 10,000
e MEEA XS 81,614 68,134 13,480
101 21AH| 73,694 60,214 13,480
M ORNZZ2NSE S 73,694 60,214 13,480
O =58 SS3tdd 22 & FHed Jl 12,036 0 12,036
O 404 2= 65,798,000& *12% 7,8% 6,452 1,444
NSzl Are 535,000 360,000 175,000
401 AlZHIL 2 OHY] 535,000 360,000 175,000
01 AlZH| 529,762 356,382 173,380
O d& 2 0= & Nd 2828 50,000 25,000 25,000
O d OFHDtS 2 ESHE FHISAHL
S) 49,460 0 49,460
O A& M3 Otsor2 SFSA 49,460 0 49,460
O dk sY2otd NEHBISA 49,460 0 49,460
03 AIZ S THYI 5,238 3,618 1,620
O HT OFHDtE 2 ESHE FHISAHL
S) 50,000,000 *1.08% 540 0 540




2N HES
g dEsS A3
el FoXE dyE24 (SH9 H2)
SN - B - SA(B) - NIRAY - BES 0 & ol B o tmE==T
O & Mef3Z Otsot2 SHESA
50,000,000& *1.08% 540 0 540
O d& sd4old MLEHISA
50,000,000 *1.08% 540 0 540
XAl (AS) 50,000 40,000 10,000
401 A2 HIRL R 0HbI 50,000 40,000 10,000
01 AlZHI 50,000 40,000 10,000
O dES HIF=SAHEH 212 33| 10,000 0 10,000
HY2HIHI(HES) 266,874 265,624 1,250
il 107,757 106,507 1,250
olE =gl 107,757 106,507 1,250
101 21AH| 107,757 106,507 1,250
02 JIet&a 2= 1,250 0 1,250
O AZIRIZ2Z (AR MOLE)
10,5793 1 *10A| 2H+0E 953 0 953
O AltA2R% (AIZEEHAIIN0IE) (F
H=2) 10,5793 1 =2A1 2+ 14 <12 297 0 297




